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{¢) 1. The graph below gives v as a function of h. Carefully estimate: e
. a. The average rate of change of v with respect toh for 0 < h < 2. jw::f‘% 75
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b. The instantaneous rate of change at ' = -1, § V=
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/f‘“é-;y;x 2. Find each of the following-derivatives. Do NOT simplify.
a. f(x) = 30x% - 20 x* - 3/% + %, = 30x% —poxd =5K T paT®
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b, u = (x% - 20x% + x - 200(2x5 + x* - %% - 10},
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d. flx) = 20x% ~ ¥+ ¥ - 10,
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Y ) Find the equation of the straight line which is tangent 1o the curve
v y=2x% - 4x « 3 atx= -l
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